Phys-011 Spring042  Quiz#2

Name: ID #

In the diagram, A has magnitude 12 and makes an angle of 45 with the +ve x-axis
counterclockwise, while 5 has magnitude 8 and makes an angle of 60 with the +ve x-axis
clockwise.

a- Resolve vectors A and B to components.

Ax= 11 ¢s 45 = %.5
Ay= 2 50~ %5 = 8.5
Bx= <% &5 60 = L
By= - % Sin b0 = ~ £.9
b- Find the components of the resultant vector R = A + B.

me= P s By 2 B8 o a e

Ry= By & By = 8.5 -69:< 1.4

c- Find the magnitude of vector R.
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d- Find the direction of vector R (the angle form +ve x-axis).
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In which quadrant is vector R located?
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